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CUET MOCK TEST- 1, 2024 

INTRODUCTION: 

1) This test paper contains 75 questions of the following subjects: 
 

    ENGLISH               (20 questions) 
      COMPUTER             (15 questions) 
        SUBJECT CURRENT AFFAIRS              (20 questions) 
 LOGICAL REASONING            (10 questions) 

          QUANTITATIVE TECHNIQUES     (10 questions) 
 

2) You have 2 Hours to complete the test paper.  
 
 

3) Directions for answering the question are given before each 

group of questions. Read all the directions carefully and 

answer the questions by darkening the appropriable circles on 

the answer sheet. Each question has only one correct answer. 
 
 

4) Each question carries 4 Marks. There is a negative marking of 

1 for every wrong answer. 

 

 

5) Do you rough work only on the last page of the question paper 

NOT in answer sheet. 
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PAHUJA LAW ACADEMY 

CUET MOCK TEST- 1, 2024 

ENGLISH 

PASSAGE 1 

The most vulnerable victim amid the hustle-bustle and rush of everyday life is our health. This is 
especially true of the health of Indian women who have to juggle multiple roles and face gender bias 
at the same time. 
According to a 2013 WHO report, 5.37 lakh women were diagnosed with cancer in India in one year 
while further statistics say that 43 million Indian women are affected by heart disease. India, in fact, 
has the highest rate of malnourished females amongst underdeveloped countries. The figures are 
staggering and reflect India's poor record in the health sector. 
The leading cause of death among women above the age of 65 is heart disease and heart attacks. 
Contrary to popular perception, women over 65 years of age are at the same risk as men. Women face 
greater difficulty in accessing public health services owing to their restricted movement. Unlike men, 
they are not encouraged or even allowed to go out of the house without permission from their families 
before venturing out even for medical purposes, and more so when the doctor is a male. 
If numbers are anything to go by, nearly two thirds of health workers in the country are men. In rural 
areas, data reflects the stupefying incompetence of our education system and of the government in not 
being able to attract enough women to the sector. Only six per cent of female doctors in India work in 
rural areas. 
These alarming facts proclaim that India desperately needs to reform its health sector and that the 
government must upgrade their system that claims to provide healthcare facilities to women. Despite 
registering high Gross Domestic Product (GDP) for more than decade now, India will not find itself in 
the club of developed countries unless it takes necessary significant steps in improving women's 
health. 
Even as women's health in the country continues taking a hit, 2020 saw more women health workers 
than men coming out to fight COVID-19. These are the same women whose health India ignored due 
to the ingrained patriarchal structure that Indian families thrive on. 
We as a society are complacent about the woes of Indian women and though we continue to subject 
them to drudgery and burden them with disproportionate amounts of household chores, we have failed 
to provide them with adequate healthcare facilities. We conveniently turn a blind eye to their 
nutritional needs while an extra roti is served to a male member of the family. There is a huge social 
and cultural shift needed to introduce reforms, and this requires a push from the government to make 
the infrastructure more accessible to women. 
 
1. India, in fact, has the highest rate of malnourished females amongst underdeveloped countries.'  

What does the quoted statement mean? 
(a) India has more malnourished females than all other underdeveloped countries 
(b) India has more malnourished females than the developed countries 9169w 
(c) The Indian ratio of malnourished women to total number of women is higher than those of 

other underdeveloped countries 
(d) All underdeveloped countries including India have greater percentage of malnourished 

females.    
  

2. Which of these words can replace the word "staggering" in the passage? 
(a) Obvious 
(b) Crystal-clear 
(c) False 
(d) Astounding 
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3. Which of these statements is true according to the passage? 
(a) There are more female than male doctors in India 
(b) Developed countries are not patriarchal 
(c) Less than ten per cent of Indian female doctors work in the villages 
(d) There are more women doctors in villages than in cities 

 
4. Why is it difficult for women to access public health services? 

(i) Restricted movement 
(ii) Gender based domination 
(iii) Long hours doing household chores 
(iv) Paucity of female doctors 

 

(a)   all of the above 
(b)   (i) and (iv) 
(c)   (i), (ii) and (iv) 
(d)   (i), (ii) and (iii) 

 
5. What is the central theme of the passage? 

(a) Measures must be taken to ensure an improvement in women's health in India  
(b) There should be more women doctors in India 
(c) Men must do more work at home than they currently do 
(d) For a higher GDP growth, India needs to have a stronger women workforce 

 

PASSAGE 2 

Meeting the Dalai Lama is considered by many to be the fulfilment of a lifelong dream. I have had the 
fortune of meeting His Holiness twice. The first was in 2017 when we got a short audience with him, 
where he advised against letting our emotions get the better of us. To wit, he said, "we are all too 
emotional nowadays, even the American President!", and laughing to himself, he moved on. 
The second time was in early 2020 when I had an opportunity to ask him a question. This I used to 
ask about Maitreya Buddha, the future Buddha of loving kindness. I expected him to praise the value 
of hoping for a utopia rather than being cynical of the future. His answer surprised me; he said that 
such things were firstly not to be taken literally. Next, he said that when the present Buddha's 
teachings are still available now, why wait for another? “It is like there is food on your plate and you 
are ready to eat, but you are waiting for the next meal to come." He concluded by saying, "Wishful 
thinking. Not good." 
His reply reminded me of the last words of the Buddha, "vayadhamma sankhara appamadena 
sampadetha", which, loosely translated, mean that "Decay is inherent in all living things, work out 
your salvation with diligence.", or, in other words, "All individual things pass away. Strive on, 
untiringly.” 
 

6. Which of the following can replace 'to wit' in the passage? 
(a) To humour 
(b) Specifically 
(c) With amusement 
(d) In short 

 
7.  What is the meaning of the word "inherent"? 

(a) Residing within something 
(b) The enemy of someone 
(c) Subdued 
(d) Unnecessary 

 
8.  What did the Dalai Lama refer to as "wishful thinking"? 

(a) Wishing upon a shooting star for life to improve 
(b) Hoping that things will magically get better 
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(c) Visualizing success because whatever the mind can believe, it can achieve 
(d) if you wish for something, the whole universe will conspire to give it to you 

 
9.  Why was the Dalai Lama laughing to himself? 

(a) He was amused by his own joke 
(b) He wanted to spread laughter 
(c) He was not laughing at himself but the American President 
(d) He was laughing to hide his sadness over people's emotional behaviour 

 
10.  What is the meaning of the Buddha's last words "decay is inherent in all living things, work out 

your salvation with diligence"? 
(a) One should realise that all living things are suffering and work to alleviate their misery 
(b) Everything is decaying, but one must find the good in the bad. 
(c) It means that one must act quickly to attain enlightenment since everything is subject to 

entropy. 
(d) The Buddha was trying to console his disciples that death is but a part of life. 

 
11. Choose the word or phrase you believe is closest in meaning to the key word.  

EXPEDIENT 
(a) Suitable and advantageous 
(b) Moral or ethical  
(c) Troublesome or costly 
(d) A quick solution 

 
12. Choose the word or phrase you believe is closest in meaning to the key word.  

CRASS 
(a) Irritating 
(b) Complete, utter 
(c) Bitter 
(d) Noisy 

 
13. Choose the word or phrase that is most nearly opposite in meaning to the key word. 

DISPATCH 
(a) Serenity  
(b) Celerity 
(c) Leisureliness 
(d) Irregularity 

 
14. Choose the word or phrase that is most nearly opposite in meaning to the key word. 

MUNDANE 
(a) Sufficient  
(b) superior 
(c) spiritual 
(d) perfect 

 
15. Choose the word which is spelled correctly. 

(a) posthumously 
(b) posthumuosly 
(c) posthumosly 
(d) posthumouly 

 
16. Choose the world which is spelled correctly. 

(a) deteririote 
(b) deteriorate 
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(c) deteriorate 
(d) deteriarte 

 
17. Fill in the blanks with the appropriate option. 

I‟d be very unhappy if we were to __________to London. 
(a) Move 
(b) Moved 
(c) Will move 
(d) Would move 

 
18. Choose the appropriate option for the following sentences. 

He asked me what I_________ if I failed to get this job. 
(a) Would do  
(b) Would have done 
(c) Will do 
(d) Can do 

 
19. Choose the appropriate option for the following sentences. 

That Shakespeare was one of the most talented writers______ an understatement to those who 
Are really familiar with the field of literature. 
(a) To be 
(b) Does 
(c) Is  
(d) Are 

 
20. Choose the appropriate option for the following sentences.  

There are _____ of mushrooms in the forest this year. 
(a) A few 
(b) A little 
(c) A lot 
(d) Much 

 

COMPUTER 

21. First integrated circuit chip was developed by 
(a) J.S. Kilby 
(b) Robert Noyee 
(c) W.H. Britain 
(d) C.Babbage 

 
22. An input device that reads printed text employing optical character pattern matching is known as 

what? 
(a) Magnetic disk 
(b) Magnetic tape 
(c) Scanner 
(d) Mouse 

 
23. What does RAM stand for? 

(a) Read Access Memory 
(b) Read Anywhere Memory 
(c) Random Access Memory 
(d) Random Access Module 
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24. Which of the following is true about Specific-purpose software? 
(a) Always specially written for a specific business organization 
(b) Available for general business needs 
(c) A category of application software 
(d) Also referred to as horizontal market software 

 
25. Which of the following is true about a Communication network? 

(a) One or more conductors that serve as common connection for a related group of devices 
(b) A collection of interconnected functional units that provides a data communication service 

among stations attached to the network 
(c) A continuous frequency capable of being modulated or impressed with a second signal 
(d) None of these 

 
26. What does DRAM stands for? 

(a) Dynamic Recording Access Memory 
(b) Dividing Random Access Memory 
(c) Dynamic Random Access Memory 
(d) Digital Random Access Memory 

 
27. The process of connecting to the internet account is called what? 

(a) Sing in 
(b) Sing out 
(c) Login 
(d) Logout 

 
28. Rules for exchanging data between computers are called what? 

(a) Procedures 
(b) Protocols 
(c) Hyperlinks 
(d) Programs 

 
29. How much data can be stored in a CD? 

(a) 300 MB 
(b) 400 MB 
(c) 670 MB 
(d) 700 MB 

 
30. Which of the following has the shortest access times? 

(a) Virtual Memory 
(b) Secondary Memory 
(c) Cache Memory 
(d) All of the above 

 
31. Cache memory acts between which of the following? 

(a) CPU and Hard disk 
(b) RAM and ROM 
(c) CPU and RAM 
(d) All of these 

 
32. When was the world‟s first laptop computer introduced in the market and by whom? 

(a) Tandy Model-200, 1985 
(b) Lap link Travelling software Inc, 1982 
(c) Epson, 1981 
(d) Hewlett-Packard, 1980 
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33. Data is a collection of facts from which what may be derived? 
(a) Process 
(b) Information 
(c) Procedure 
(d) Instruction 

 
34. The first generation computers used what for circuitry? 

(a) vacuum tubes 
(b) magnetic drums 
(c) magnetic tubes 
(d) magnetic circuitry 

 
35. CPU consists of arithmetic and logic units, control unit and internal memory ___? 

(a) Capacitors 
(b) Processors 
(c) Registers 
(d) Bus 

CURRENT AFFAIRS 

36. How much financial allocation has been set aside for the Vishwakarma Yojana to empower 
artisans? 

(a) Rs 1,000 crore 
(b) Rs 5,000 crore 
(c) Rs 10,000 crore 
(d) Rs 13,000 crore 

 
37. Which state recorded the highest increase in GST collection in August 2023, with a remarkable 

40% growth? 
(a) Karnataka 
(b) Gujarat 
(c) Tripura 
(d) Tamil Nadu 

 
38. Who initiated the concept of World Animal Day in 1925? 

(a) Steve Irwin 
(b) Heinrich Zimmerman 
(c) Jane Goodall 
(d) Brigitte Bardot 

 
39. What is the theme of World Animal Day 2023? 

(a) Animal Welfare is Everyone‟s Business 
(b) Animals Are Our Friends 
(c) Protecting Animals for the Future 
(d) Great or Small, Love Them All 

 

40. The Gujarat government has proposed a second home for Asiatic lions in Gujarat at which of the 

following place? 

(a) Barda Wildlife Sanctuary 

(b) Jambughoda Wildlife Sanctuary 

(c) Purna Wildlife Sanctuary 

(d) Gaga Wildlife Sanctuary 
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41. Where is the location of one of the newly approved industrial estates in Jammu and Kashmir? 

(a) Rajouri 

(b) Budhi 

(c) Srinagar 
(d) Poonch 

42. How much financial assistance will be provided by the National Disaster Response Fund 
(NDRF) for the recovery and reconstruction plan in Joshimath? 

(a) ₹368.46 crore 
(b) ₹859.84 crore 
(c) ₹1079.96 crore 
(d) ₹1036.47 crore 

 
43. What did the Reserve Bank of India (RBI) state in response to the rising inflation? 

(a) It will lower interest rates immediately. 
(b) It will take no action. 
(c) It will raise interest rates if conditions require. 
(d) It will introduce new currency notes. 

 
44. Who was the first woman Governor of a state in Independent India? 

(a) Mrs. Indira Gandhi 
(b) Mrs. Vijaya Laxmi Pandit 
(c) Mrs. Sarojini Naidu 
(d) Mrs. Sucheta Kripalani 

 
45. The charge of impeachment against the President of India for his removal can be preferred by 

whom? 
(a) Both Houses of Parliament 
(b) Speaker of Lok Sabha and Chairman of Rajya Sabha 
(c) Rajya Sabha 
(d) Lok Sabha 

 
46. In case a President dies while in office, the vice President can act as President for maximum of 

what period? 
(a) 1 years 
(b) 3 months 
(c) 6 months 
(d) 2 years 

 

47. Who administers the oath of office to the President of India before he enters upon the office? 
(a) Chief Justice of India 
(b) Speaker of Lok Sabha 
(c) Vice President 
(d) Prime Minister 

 

48. Who is the Secretary-General of ASEAN? 
(a) Abdul Razak Hussein 
(b) Kao Kim Hourn 
(c) Narciso Ramos 
(d) Adam Malik 

 

49. Ministry of Jal Shakti was formed in which year? 
(a) 2018 
(b) 2019 
(c) 2020 
(d) 2021 
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50. Who is the Governor of Meghalaya? 

(a) Phagu Chauhan 
(b) Rajendra Arlekar 
(c) Lalji Tandon 
(d) B. D. Mishra 

 
51. Which was the first product to receive the GI tag in India? 

(a) Basmati rice 
(b) Darjeeling Tea 
(c) Malabar pepper 
(d) Nagpur oranges 

 
52. When was the Blue Revolution in India launched? 

(a) During the 5
th

 year plan 
(b) During the 6

th
 year plan 

(c) During the 7
th

 year plan 
(d) During the 8

th
 year plan 

 
53. Who is the chief minister of Gujrat? 

(a) Bhupendra Patel 
(b) Himanta Biswa Sarma 
(c) Pramod Sawant 
(d) Sukhvinder Singh Sukhu 

 
54. Which of the following Legal Maxims mean “Meeting of minds”? 

(a) Amicus Curiae 
(b) Corpus Delicto 
(c) De Die In Diem 
(d) Assentio Mentium 

 
55. Supreme Court has called for Resolution regarding Governor-Bills impasse in which state? 

(a) Tamil Nadu 
(b) Kerala 
(c) Karnataka 
(d) Andhra Pradesh 
 

LOGICAL REASONING 

56. Select that series in which letters are not according to a general rule. 

(a) CEGIKM 

(b) MORTVX 

(c) PRTVXZ 

(d) ZBDFHU 
 

57. In a certain code, „FLOWERS‟ is written as „EKNVDQR‟. How will „SUPREME‟ be written in 

that code? 

(a) TQDROLD 

(b) RTODQLD 

(c) TQDDROL 

(d) RTOQDLD 
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58.  a__ba__c__aad__aa__ea 

(a) babbb 

(b) babbd 

(c) babbc 

(d) bacde 
 

59. Lakshmi is elder than Meenu. Leela is elder than Meenu but younger than Lakshmi. Latha is 

younger than both Meenu and Hari but Hari is Younger than Meenu. Who is the Youngest? 

(a) Lakshmi 

(b) Meenu 

(c) Leela  

(d) Latha 

 

60. Direction:- Read the following information carefully and answer the questions that follow. 

1) P+  Q means P is the father of Q 

2) P – Q means P is the wife of Q. 

3) P ×  Q means P is the brother  of Q. 

4) P ÷ Q means P is the daughter of Q. 
 

If A ÷ C+ D + B, then which of the following statements is true? 

(a) A is the daughter of B  

(b) B is the aunt of A 

(c) A is the aunt of B 

(d) A is the mother of B 

 

61. A school bus driver starts from the school, drives 2 km towards North, takes a left turn and drives 

for 5 km. He then takes a left turn and drives for 8 km before taking a left turn again and driving 

for further 5 km. The driver finally takes a left turn and drives 1 km before stopping. How far and 

towards which direction should the driver drive to reach the school again? 

(a) 3 km towards North 

(b) 7 km towards East 

(c) 6 km towards South 

(d) 5 km towards North 

 

62.  

   
 

(a) A 

(b) B 

(c) C 

(d) D 
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63. Statement: Should all those students who failed in one or two subjects in HSC be allowed to 
take admission in degree course and continue their study, subject to their successfully passing in 
the supplementary examination? 

Arguments :  
I. Yes, this will help the students to complete their education without a break of one year. 
II. Yes, this is a forward looking strategy to help the students and motivate them for higher 

studies. 
III. No, such students do not choose to continue their studies without having passed in all the 

subjects in HSC. 
 

(a) Only I is strong 
(b) Only II is strong 
(c) Only III is strong 
(d) Either II or III and I are strong 

 
64. Direction: - Each of these questions has a statement followed by two assumptions numbered I 

and II An assumption is something supposed or taken for granted. Consider the statement and the 
following assumptions. 
 
Statement: Who rises form the prayer a better man, his prayer is answered. 
Assumptions : 

I. Prayer makes a man more human. 

II. Prayer atones all of our misdeeds. 

(a) If Assumption I is implicit 
(b) If Assumption II is implicit 
(c) If either Assumption I or II is implicit 
(d) If neither Assumption I nor II is implicit 

 
65. Examine the following statements  

I. None but students are members of the club. 
II. Some members of the club are married persons. 
III. All married persons are invited for dance. 

 
Which one of the following conclusions can be drawn from the above statements? 
(a) All students are invited for dance 
(b) All married students of the club, are invited for dance 
(c) All members of the club are married persons 
(d) None of the above 

 

QUANTITATIVE APTITUDE  

 
66. The sum of four consecutive even numbers A, B, C and D is 180. What is the sum of the set of 

next four consecutive even numbers? 
(a) 196 
(b) 204 
(c) 212 
(d) 214 

 
67. Four metal rods of lengths 78 cm, 104 cm, 117 cm and 169 cm are to be cut into parts of equal 

length. Each part must be as long as possible. What is the maximum number of pieces that can be 
cut? 
(a) 27 
(b) 36 
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(c) 43 
(d) 480 

 
68. 18 years ago, a man was three times as old as his son. Now, the man is twice as old as his son. 

The sum of the present ages of the man and his son is  
(a) 54 years 
(b) 72 years 
(c) 105 years 
(d) 108 years 

 
69. In a test, minimum passing percentage for girls and boys is 35% and 40%respectiviely. A boy 

scored 483 marks and failed by 117 marks. What is the minimum passing marks for girls? 
(a) 425 
(b) 500 
(c) 520 
(d) None of the above  

 
70. A person bought some articles at the rate of 5 per rupee and the same number at the rate of 4 per 

rupee. He mixed both the types and sold at the rate of 9 for 2 rupees. In this business he suffered 
a loss of Rupees 3. The total number of articles bought by him was  
(a) 540 
(b) 545 
(c) 1080 
(d) 1090 

 
71. 20 liters of a mixture contains milk and water in the ratio of 5:3. If four litres of this mixture is 

replaced by four litres of milk, then the ratio of the milk to that of the water in the new mixture 
will be  
(a) 2:3 
(b) 4:3 
(c) 5:3 
(d) 7:3 

 
72. A and B together can do a piece of work in 12 days which B and C together can do in 16 days. 

After A has been working at it for 5 days and B for 7 days, C finishes it in 13 days. In how many 
days C alone will do the work? 
(a) 16 
(b) 24 
(c) 36 
(d) 48 

 
73. A lent ₹ 5000 to B for 2 years and ₹ 3000 to C for 4 years on simple interest at the same rate of 

interest and received ₹ 2200 in all from both of them as interest. The rate of interest per annum is  
(a) 5% 
(b) 7 % 

(c) 7 
 

 
 % 

(d) 10% 
 
74. The area of the four walls of a room is 120 m

2
 and the length is twice the breadth. If the height of 

the room is 4 m, then the area of the floor is  
(a) 48 m

2 

(b) 49 m
2
 

(c) 50 m
2
 

(d) 52 m
2
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75. At 3.40, the hour hand and the minute hand of a clock form an angle of 

(a) 120° 
(b) 125° 
(c) 130° 
(d) 135° 

 


